
-B-
1) Calcule as seguintes integrais indefinidas:

(1,5) a)
∫ dx

(x + 1)
√

x + 10
=
∫ 2udu

(u2 − 9)u
=
∫ 2du

(u− 3)(u + 3)
=
∫ [

A

u− 3
+

B

u + 3

]
du = (∗)

↓
u =

√
x + 10

x = u2 − 10
x + 1 = u2 − 9

dx = 2udu

2

(u− 3)(u + 3)
=

A

u− 3
+

B

u + 3
=

(A + B)u + 3A− 3B

(u− 3)(u + 3){
A + B = 0
3A− 3B = 2

⇒
{

A = 1/3
B = −1/3

(∗) =
∫ [

1/3

u− 3
+
−1/3

u + 3

]
du =

1

3
ln |u− 3| − 1

3
ln |u + 3|+ k =

=
1

3
ln
∣∣∣√x + 10− 3

∣∣∣− 1

3
ln
∣∣∣√x + 10 + 3

∣∣∣+ k.

(1,5) b)
∫

x arctg (
√

x2 − 1) dx =
x2

2
arctg (

√
x2 − 1)− 1

2

∫ x√
x2 − 1

dx =
↓

u = arctg (
√

x2 − 1) du = 1
x
√

x2−1
dx

dv = x dx v = x2

2

↓
u = x2 − 1
du = 2x dx

=
x2

2
arctg (

√
x2 − 1)− 1

2

∫ 1

2
√

u
du =

x2

2
arctg (

√
x2 − 1)− 1

2

√
u + k =

=
x2

2
arctg (

√
x2 − 1)− 1

2

√
x2 − 1 + k.


